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X EFRZFR-NAEHFZAXA PR

P,0, = P.0, - P,CO,/R, (1)
Arfr: PO, Rl i< 5 K, PO, IR A SE S,
P, CO, A fifi i < = A 53 e, 43 B0l Pas R oy
P45 o
K (D) A 4 D258
1) P,0, .P,0, P,CO, &I RHEY3 o KA
i , ARSI B E A XGER T
GB/T 1. 1—2020 AYFIAE : “ Fh5 28 O A H 12 19 44
FRECHE IR B AR TR n . 51024 FR k2 B 4 g R
W AN IEARSRHA, IR IR SR B & A T bi, #AS N I%
HRARB RS A5 — Oy A RHA TR, 2
RS ps X5 3 Far s, # Ul B 745 A
[alveoli (liyfd) M B FHKE | il in(A) BE 4] 4
SIER p B A5 3% GB/T 3102. 8—1993 #y L k 2 A1l

I3 B AL AL E , O, Fll CO, A5 p
R, TR R R p R EOE L, B8 RS
N pa(0,) Jilil L AR 03 RS R py (CO,) IRA
ETIEE R pi(0,) .
2) il L SR A R 44 3, IR A S ( pulmonary
alveolus) ,
3) IR ARG 2 1R B e 44 B, L O I R (e
spiratory quotient) , FLEA(7 A 1,
4) R EIPIR B A AT, A I IE AR
ZEA VA LA, 20 (1) B IE R R N
p2(0,) = p;(0,) - p,(CO,)/R, (1)
H:p, (0,) ML TE I, p (0,) HWATE D
JE,pa (CO,) il LS8k o0 s, 70 B Pag
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